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follwmg number se|es'?
AT §adl H Uy g (2) & TIF WR T S{TUT?
17, 98, 26, 89, 35 ?

A. 80 B. 75 C. 67 D.53 E. None of these
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follwmg number se|es'?
T 4adl § vy g () %wmu‘\ramarrqrrrv
2, 17, 89, 359, 1079, ?

N AEY/ B. 2121 C. 2377 D. 2159 E. None of
these
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following number series?
feferiaa dwar et o wy =g (?) & €2 W T S
3, 5, 15, 45, 113, ?

A. 250 B. 243 C. 247 D. 261 E. None of these
None of these
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What will come in place of the question mark (?) in the following number series?
feferiaa dwar sieet o w f=R0g (?) & € W T S
7, 4.5, 5.5, 12, 49, ?

A. 393 B. 396 C. 354 D. 367 E. None of these

IBPS RRB PRE PREVIOUS YEAR PAPER DISCUSSION




What will come in place of the question mark (?) in the following number series?
Fferiaa v sieet o ay f20g (?) & €21 W T S
RYZ 1|8 540, 108, 27, 2, 4.5

A.7 B. 10 C.9 D. 8 E. None of these
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In the following question two equations are given in variables x and y.

You have to sqQlve these equationg and determipe relation between x and y.
grusrg_" THIHIT TR x 3R y H feU U S GHIBRT I g
P18 3R x 3R y & 91 Iy FUiRd 1 81

.3x2-22x+7=0
l.y2- 15y +56 =0

A. x>y B.x<y C.x2y
E. x=y or No relation can be estabhshedfclﬁ's‘ wuwrﬁaqﬁ%mmm g
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In the following question two equations are given in variables x and y.

You have to sqQlve these equationg and determipe relation between x and y.
grusrg_" THIHIT TR x 3R y H feU U S GHIBRT I g
P18 3R x 3R y & 91 Iy FUiRd 1 81

.2x2-17x+36 =0
II.2y2- 19y + 44 =0

A. x>y B.x<y C.x2y
E. x=y or No relation can be estabhshedfclﬁ's‘ wuwrﬁaqﬁ%mmm g
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In the following question two equations are given in variables x and y.
You have to sqglve these equationg and determine relation between x and y.

usr JHIHIT TR yH | 3TUPT S THIBIUN i
ST ay%ﬁﬂﬂﬁﬂﬁﬂfﬁﬁ%%l N &
. X -/169 =
I.y2-169=0
A. x>y B.x<y C.x2y

E. x=y or No relation can be estabhshedfclﬁ's‘ wu T g1 fHar ST gbdr §
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In the following question two equations are given in variables x and y.

You have to sqQlve these equationg and determipe relation between x and y.
grusrg_" THIHIT TR x 3R y H feU U S GHIBRT I g
P18 3R x 3R y & 91 Iy FUiRd 1 81

.3x2+20x+25=0
1.3y + 14y + 8 =0

A. x>y B.x<y C.x2y
E. x=y or No relation can be estabhshedfclﬁ's‘ wuwrﬁaqﬁ%mmm g
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In the following question two equations are given in variables x and y.

You have to sqQlve these equationg and determipe relation between x and y.
grusr‘%_" HHIPRUT =R x MYy H AU [T g AHIBRT Pl gl

P18 3R x 3R y & 91 Iy FUiRd 1 81

.3x*+5x+2=0

II. 3y? + 18y +24 =0

A. x>y B.x<y C.x2y
E. x=y or No relation can be estabhshedfclﬁ's‘ wuwrﬁaqﬁ%mmm g

IBPS RRB PRE PREVIOUS YEAR PAPER DISCUSSION




What should come in place of question mark (?) in the following question? (You do not

have to calculate the exact value.)

Fraferaa g o wer g (2) & T R ST SmET =R ? (3R TR WA hi MUTHT A
hT STTAIIRaT 21 21)

(v80.997 — v25.001) x (vV120.98 ++16.02) =7
A. 20 B. 30 C. 40 D. 50 E. 60
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What should come in place of question mark (?) in the following question? (You do not

have to calculate the exact value.)

FraferRaa g o wer g (2) & T R ST AT =R ? (3R TR WA hi MUTHT A
hT STTAIIRAT 21 21)

53.01 — 345.02 + 22.99 = 2 X (?)
A. 14 B. 19 C. 24 D. 54 E. 64
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What should come in place of question mark (?) in the following question? (You do not

have to calculate the exact value.)

FeateaRaa oo o ax g (7) o T W AT 3T TTiRu? (TRt @i A <kl MUET hid
hT STAThAT T2l 1)

(184.002 — 29 = 5) X 29.997 =?
A. 5140 B. 5240 C. 5340 D. 5440 E. 5540
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What should come in place of question mark (?) in the following question? (You do not

have to calculate the exact value.)

e g o wer g (2) & T R ST AT =R ? (3R G R WA hi MUTHT A
hT STTAIIRAT 21 21)

v3099.985 = 62.001 + 14.001 =7
A. 8 B. 13 C.18 D. 23 E. 28
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What should come in place of question mark (?) in the following question? (You do not

have to calculate the exact value.)

Fraferaa g o wer g (2) & T R ST AT ={R? (SR TR WA hi MUTHT A
hT TTAIIRaT 21 21)

(111.93 X 5) +~ 14.02 = 11.002 +?
A. 11 B. 10 C.29 D. 34 E. 40
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What should come in place of question mark (?) in the following question? (You do not

have to calculate the exact value.)

freterRae vy 5wy g (2) o T @@ =T ST SR (SATUeht @éeh AT <hT MOET i
hT TR AT T2l 1)

24.97% of 84.01 +~ 6.995 =7
A.3 B. 6 C.9 D. 12 E. 15
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Given line graph shows the number of students appeared from state A and state B in an
examination.

20U 70 T UTE H ek qie H ST A TR ST B ¥ BTl hi 6T feETs Wt B
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Number of students appeared from state B in 2009 is about what percent of total students
appeared from state A?

2009 § TS B & AFATTA STAT 61 AT TST A 8 ARATT el DTAT T [eha AT ST9rd 82
(a)32 (b)30 (YRR, (d)28 (e)22
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What is the difference between the total number of students from state A in 2004 and

2005 together and those of state B in 2008 and 2009 together?

2004 3T 2005 T Teh AT TSI A 3T 2008 3R 2009 T Teh G TSH B o BTAT okl Shet €GAT
% i afae T B2

(a)520 (b)580 (¢)620 (d)720 (e)680
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What is the ratio of number of students appeared in examination from state B in 2004

,2006 and 2008 to the number of students appeared from state A in 2005,2007 and 2009?
2004 , 2006 37X 2008, § TSI B & R, 2005, 2007 TAT 2009 H T[T A & AIFATAT gTBTAT hT
HEAT T ATUTA TeherT 82
(a)73:55  (b)55:71 (©)79:15 (d)75:13 (e)13:85
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If in 2010 the number of students appeared from state A is increase by 10% and those from state B
increased by 15% as compared to the number of students from respective states in year 2009,then
what is the ratio of number of students from state A and state B in 2010?
afE 2010 ¥ TSI A A BTAT BT HEAT T 10% 1 Ahg 73 7 AR AT 2009 T Heiferd T o6 ST <kl HET hT
T 4 T B H 15% o1 15 53 &, AT 2010 HIST A R TST B 8 STAT hl HEAT hT ST F4T 27
(a)287:439  (b)285:437 (c)289:437 (d)433:189 (€)242:437
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What is the difference between average number of students from state A and state B?
T A AR T<T B & BT chT 38T H&AT T 4T (e B2
(a)90 (b)60 (c)80 (d)70 (e)110
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The ratio of the speed of Two trains is 5:8. Sum of their length is 660. The ratio of time
taken to cross an Electric Pole by train A and B is 4:3. What is the difference between the

length of two trains?

Y AT ShT I T STTUTA 5: 8 B SEhT S1ATS T ANT 660 7l ST A R B T Foiforeeh Ut i
UR T W T STl THA T ST 4:3 71 8) AT Y oiamd | T i’ 22
A.50 m B.40 m C.60 m D.45 m E. None of these
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At present, the sum of ages of 4 people is 76. After 7 years, the ratio will be 7:6:5:8. Find

out the present age of C?

TAHT H, 4 T hl AT T AT 76 Bl 7 AT TG, JTATA 7:6:5:8 TR C Y Tq0H A 71

A2
A. 12 B.11 C.17 D. 13 E. None of these
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There are four consecutive even integers. Sum of the reciprocals of the first two number
is 11/60. Find the reciprocal of third largest number of the series.

TR SHANTA T HEATE 8| g 31 HEATSAN o Seh™ T AT 11/60 Bl @A hY Aot Tt

T TEAT o SYShH T TdT T
A.1/12 B. 2/14 C. 1/14 D. 2/13 E. None of these
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There are 81 liters of pure milk in a container. One third of the milk is replaced by water

in the container. Again one third of the mixture is extracted and equal amount of water is
added. What is the ratio of the milk to water in the new mixture?

Teh a9 § 81 T 5 3 &. T oh 8 T T TaeTs ur-t & wfoetua s feam . foma
e forgé firoror Frewter T ofR T A § aret fver e =TT THS0T | ger 3R uT <t
FTUTA AT hITT.

(a)l1:2 (b)1:1 (¢c)2:1 (d)y4:5 (e) None of these
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Thank You
tddic
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What will come in place of the question mark (?) in the following number series?

ﬁmﬁ«lﬁaﬂﬁwmﬁu&rﬁg(?)%wmwm?
17, 98, 26, 8. 35 @ 08

D\ ’W s S ’ff«é %
A. @B (375% Cjb%67 ‘L &53 E. None of these %
9xg  Ix
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What will come in place of the question mark (?) in the following number series?

TR @ e # g =g (?) o T 9 Hgr AT
2, 17, 89, 359, 1079, 7 &L (07
m W SHy Xtd XA <A 9 | <0

A.2137 B.2121  C.2377  D.2159-  E.None of these |
/ 289
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What will come in place of the question mark (?) in the following number series?

ﬁm%ﬁaaﬁwmﬁuaﬁg(v)%wm .

113, ?

(\ *\) (:{-‘*% ¥ 13*?3 Wl}/’r% D@mﬁ

A. 250 243 C. 247 261 E. None of these

\;cfg \\\';)o
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What will come in place of the question mark (?) in the following number series?

ﬁmﬁﬁmmmﬁu&rﬁgm%wmwg_w}

Ty 45 55, 1
U A SVE I m»r\

A. 393 B. 396 C. 354 ) 367 E. None of these
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What will come in place of the question mark (?) in the following number series?

ﬁm%ﬁ@mmmﬁuaﬁg(v)%wmww

RYZ | 540, ¥/ 108, \_/ \_/ \/
A.7 B. 10 C.9 D. 8 E. None of these
P
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